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QUESTION 1

Given:

public class Hello {
public static void main(String[] args) {
System.out.println(args[0]l+args[l]+args(2]);

executed using command: java Hello "Hello World" Hello World What is the output?
A. An exception is thrown at runtime.

B. Hello WorldHello World

C. Hello World Hello World

D. Hello WorldHelloworld

E. HelloHello WorldHelloWorld

Correct Answer: C

QUESTION 2
Given: What is the result?

string[][] arr = {
{"Red", "White"},
{"Black"},
{"Blue", "Yellow","Green","Vioclet"}
}i
for(int row = 0; row < arr.length; row++) {
int column = 0;
for(; column < arr[row].length; column++) {
System.out.println("[" + row + "," + column + "] = " + arr[row] [column]);

}

A. [0,0] = Red [0,1] = White [1,0] = Black [1,1] = Blue [2,0] = Yellow [2,1] = Green [3,0] = Violet
B. [0,0] = Red [1,0] = Black [2,0] = Blue

C. java.lang.ArraylndexOutOfBoundsException thrown

D. [0,0] = Red [0,1] = White [1,0] = Black [2,0] = Blue [2,1] = Yellow [2,2] = Green [2,3] = Violet

Correct Answer: D
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Console 1 % Console 2 % Console 3 x

[0,0] =Red

[0,1] =White
[1,0] =Black
[2,0] =Blue

(2,1] =Yellow
[2,2] =CGreen
[2,3]) =Violet

ompleted with exit code: 0

QUESTION 3
Given: What is known about the Sportscar class?

public class Sportscar extends Automobile(
private float turbo:

public void setTurbo (float turbo) {
this.turbo = turbo;

A. The Sportscar class is a subclass of Automobile and inherits its methods.

B. The Sportscar subclass cannot override setTurbo method from the superclass Automobile.

C. The Sportscar class is a superclass that has more functionality than the Automobile class.
D. The Sportscar class inherits the setTurbo method from the superclass Automobile.

Correct Answer: D

QUESTION 4

Which two modules include APIs in the Java SE Specification? (Choose two.)
A. java.logging

B. java.desktop

C. javafx
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D. jdk.httpserver
E. jdk.jartool
Correct Answer: AD

Reference: https://docs.oracle.com/javase/9/docs/api/overview-summary.html

QUESTION 5
Given:

public class Foo ({
public wvoid foo(Collection arg) {
System.out.println("Bonjour le monde!");
}
}

and

public class Bar extends Foo {
public void foo(Collection arg) {
System.out.println("Hello world!"):;
}
public void foo (List arg) {
System.out.println("Hola Mundo!");

}
}
and
Foo fl = new Fool():
Foo f2 = new Bar():;

Bar bl = new Bar():
List<String> 1li = new ArrayList<>();

Which three are correct? (Choose three.)
A. bl.foo(li) prints Hello world!

B. f1.foo(li) prints Bonjour le monde!

C. fi.foo(li) prints Hello world!

D. f1.foo(li) prints Hola Mundo!

E. bl.foo(li) prints Bonjour le monde!

F. f2.foo(li) prints Hola Mundo!

G. f2.foo(li) prints Bonjour le monde!
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H. bl.foo(li) prints Hola Mundo!
. f2.foo(li) prints Hello world!

Correct Answer: ABH
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